petal_length<=2.4
entropy=1.58
samples=150

value=[50,50,50]

petal_width<=1.75

entropy=1
samples=100
value= [0 50,50]

ntropy_O 44

ID=0

entropy=0

[samples:SOj ID=4
= ) ]

value=[50,0,0

ID

ntropy_O 1

e 5
samples=54 samples=46 0
value=[0,49,5] value=[0,1,45]

ID=2

ID=3

children children ... re threshold impurity value N-node
_left _right _samples
1 4 _I"; ‘:‘t:t'h 2.4 | | 1.58| [50,50,501| 150
2 3 || e | 175 1 | [05050] | 400
-1 -1 -1 -1 || 0.44]| |104951 | 54
a4 || -1 4[| -1 || o045| o148 | 46
-1 -1 -1 -1 0 [50,0,0] 50




